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AIM ACTIVATION EXAM

MODEL PUBLIC EXAM (13" yoar )

MATHEMATICS 5
Time Allowed: 3.00 hra) [Maximum Marks: 100
Instructions: 1.Check the question paper for falrness of printing. If there is any lack of

falrness, Inform the Hall supervisor ImmedIiately.

2.Use Black or Blue Ink to write and underline use pencil to draw
diagrams.
Note: This questlon paper contalns four parts.

o N = EEI!‘I.— I
NOTE: 1) Answer all the 14 questions.

i) Choose and write the correct answer from the given four alternatives

and write the option code with the corresponding answer. 14x1=14

1.Let f{x) = J1 + x* then
a) floy) =fi=)fly)  BYf(xy)2f{x) fiy) <) fixy)s[fix)f{y) d)noneolthese

2. Composition of function is assoclative
a) Always true b) Never true c] Some times true d) None of these
3. The number of divisors of any prime number ls

‘a) one b) two c) three d) four
4.1TA=2%and B=26% + 2634 2 62 4 ,._+ 20 which of the following is true?
a) Dis Z¥* more than A : b) A and B are equal
¢) Bis larger than A by 1 " d)Aislargerthan Bby1
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5. For a system of linear equations In three variables the minimum number of

equations required to get unique solution Is

a) one b) two c) three d) four
6. Which one of the following should be added to make x* + 64 3 perfect square
a) 4x? b) 16x? c) Bx? d) - Bx?
7. Graph of linear polynomial Is a
1 a) Stralghtline b) Circle c) Parabola d) Hyperbola
B:-The first theorem In mathematics is
a) Thales theorem b) Angle Blsector theorem
c) Pythagoras theorem d) Alternate segment theorem
9. Thy Inclination of ¥ axls and every line parallel to Y axis |s
a) oo b) 90° c) 60¢ d) 450
10.(1 +tan0 + secl ) (1 +cotd - cosech) Is equal to
a)0 b) 1 )2 d)-1
11.The difference between the C.S.A and TS.A ofaconels
a) 2=r b) xr2 c) nrf d) arlh
1Z.The range of first 10 prime number Is
a) 27 b) 10 c) 25 d) 22
13.1fA and B are mu tually exclusive events then P{ANB) =
a) 0 b) 1 €)2 d)3

14. Which ol the follo wing Iz Incorrect?
a)P(A)>1 b) 0sP(A) 51 ) P(p) =0 d) P(A) + P(A) =1
PART-11

Note: Answer any TEN of the following in which Q.No.28 |s compulso
A5. Define Pre - imagg, | T

10x2=20

16.1/x) =3x- 2, g(x) = 2x + k and iff6g = gof, then find the value of k.
17.Solve 3x - 2 = O(mod11) -

18. Find the 8% term of the G.P 9,3, 1 .
1 : A — -
_ / \ . ST8)
19. Simplify: s L 1 =~ FERL g 3 ]
A-FT e SRR g r
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20.Solve:x?=-3x -2 ( using perfect square)

21.1(A = ( 030 sing

e [T

22.Write down any five Pyth agorean triplets?

23.1n AABC, D and E are polnts on the sides AB and AC respectlvely such that DE || BC

1r._E = .:_nndAl:-IS:m find AE. ) F-' ." =

- -

R

24, Uthe straight line y=-(p 1-,.'1] X+ 12,12x -7y = 16 are perpendicular then find ‘p
ﬁ Find the angle of elevation of the top ofa tower from a pu[nt on the ground, which
Is 30m away from the foot of a tower of height 10¥3 m. - |
26, Find the diameter of a sphere whose surface area is 154 m?.
27.1(the range and the smallest value of a set data are 36.8 and 13.4 respectively, then
find the largest value. .

20.1714243 + ..+ n =666 then find n. r, { /1M
PART -1l

El
=

Hnlamﬁs-i-‘:rnny‘l‘EH of the following In which Q.No.42 Is compulsory. 10x5=50
29 LletA={xeW/x<Z),B=[xeN/1 <x<4}and C=(3,5) verify that
Ax(BuC)=(AxB)u(AxC)

Ix+ 7T, X<l

-~

w

a

o

,?ﬂ.lﬂ.h.e function f: R— Risdefined by f{x)=4+* -1, -2<5 x <3 then find the value -, -

-

ir=-2, 2}

nﬂ“ -3/{4)
Ji=3)
terms that are In A.P Is 27 and their product Is 288,

of )f(4)+2f(1)

31, The sum of three consecutive

. L
Find the three terms. ) £
32. Find the sum n[llmgeumtulcuﬂuﬂ +6+ 11+__.+ 153 \1 | |
) 1 146X+ 12 - . )
33¢Find the G.CDof3x)+ 2x1 + 3x+ 3, 0k 12t + \.\:‘I‘- |

34, The hypotenuse of a right angled triangle Is 25¢cm and Its perimeter S6cm. i

Flnd the length of the smallest side.

[Turn over

Kindly Send Me Your Key Answers to Qur email id - padasalai.net@gm'ail.com

%


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalal.Net www. Trb Tnpsc.Com

_35. State and prove that Alternate segment theorem,
36. A line makes positive intercepts on coordinate axes whose sum ls 7 and [ts passes
through [-3, 8 ). Find Its equation.

37.An Acroplane at an altitude of 100°m finds that iwo boats are salling towards it In
the same direction. The angles of depresslon of the boats as obse rved from the
acroplane from the aeroplane are 60° and 30% respectively. Find the distance
between the two boats { V3 = 1.732)

38. The volumes of two cones of same base radlus are 3600cm? and 5040 cm?.
Find the ratio of helghts.

39. The volume of a cone is 1005 ;i:u.cm. The area ol lts base is zm; $0. cm.

Find the slant height of the cone.

_;I.I‘.I'.T-‘inﬂ the mean and varlance of the first n natural numbers.

41 ."'lfwn dice are rolled together. Find the probability of getting a doublet or sum of
faces as 4.

42.1fthe roots of the equation (¢ =ab ) x* = 2[a?-bec]x + b2 -ac=0are real and equal
prove that :llh:ra:l".-l[nr] al + b3+ ¢ = Jabc ¢

PART -]V
.
Note: Answer all the questions.
43. a) Constructa triangles similar to a given triangle PQR with Its sldes equal to ;

2x8=16

of the corresponding sldes of the triangle PQR.
(Or) |

C ct 2 APQR In which PQ = 8cm, R = £60° and the median RG fromRtoPQls
b) Consiru

5.4 cm. Find the length
phofy=(x-1)(x+3] and hence solvex?-x=-6=0,

(0r)

of the altitude from R to PQ.

44.a) Draw the gra

(3 1) showthatA?=5A+71:=0.
wia=(2; )
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